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=M | 8K | 2F MY EThAL SRS =4 Ha g7t

1 dvd | 8 |R2l& C ARERIRE S7H2 U5, Z50 2 £9 25,300 1 25,300

2l 2 3 [agst gkt A= AE (MY B X 0t2|2 of2EL 17, AQL 82 13,000 1 13,000

3 3| 3 [acin 2Rk EEER [HMU AIZA X8, A2|AE &2 1Y, =X 82 12,000 1 12,000

4 1 4 K|+ ESOY HLHR [2al= 2% 2710 X5, 2 M3E 38, M3lE &2 14,000 1 14,000

51 3 | 4 [RE ¥ojopr 25! ZHiofglo| LFe ERA X g, 1S § 13,000 1 13,000

6| O 4 |RELT HHHE S} O|C| Of &bH| [MBF2EIY = x|, ¢tz2 otz 13, oMz &, 0l4% &+ 13,000 1 13,000

71 2 4 |LJRE E£8 FCt? O|C|O{AfH| M AEIS 2= XI§, 22 otz 28, OIME &, 0148 U+ 13,000 1 13,000

gl 1 4 |MAY Ex= Qilh O|C| O AHH| [MEFAEIY M= X1, ¢t22 Ot2 18, Ol &3, 0|2 &= 13,000 1 13,000

9] 1 4 |=9| A|ZH S0 |2ed 2= XS d2l2 By 38, oled 52 IS A 19,000 1 19,000
10] 2 | 24 [ol MAtol ==0| o 1000t2| 22 0|2} H? ME 7| = |ojatct A& x|, of 2 AHHe| 28, 2™ 82 14,000 1 14,000
11 2 4 |9t Lt= EHo|Oof SO L|Of [2HIOIAl BH7HLE| X5, AE[H| 20|A O8, X&3] &4 12,000 1 12,000
12| 2 | 5 |HMF4, HCHX[Z0| Z=0| CRENSEPAIENS) O|lFg X5, M2X J8 17,000 1 17,000
13] 2 | 5 |otEChk2 ®2| g0l =38 2f = DI 2 5{0td X|& 14,000 1 14,000
14 3 | 5 |OlMO/M$ BF St Foe =7 AR X2, =24 2, ¢4eF U 14,000 1 14,000
151 2 | 5 |"Ael = =8 /7|32 2|CHA X| 3, o| &8 &4 22,000 1 22,000
16| 1| 5 |s5 =¥ STFLof AMZ XS 14,000 1 14,000
17] 3| 5 |RERH D =9 7|H STFELIOAE 7| QE}FE K| 2, junaida 18, MY &2 15,000 1 15,000
18] 2 | 5 [o]oM AIEtSt= 2+ 00f7| stal=obAL[olRtet &3 XIS, Cto|AH 2l 1, Zust &2 15,000 1 15,000
19] 3 | 5 |Sotd = A2 stEss o|¢% X|Z, O|F0 I8 13,000 1 13,000
200 3 | 6 |AX7toE wts e HEF XS EEHAHE S 15,000 1 15,000
21 3 [ 8 [|AHEo| Enpe WAL 223 X|ls, g2lof O3 14,500 1 14,500
23| 8 [HHZEZ = DIA 2 BA FAA X|F, O|F3| &4 14,000 1 14,000
23| 8 [KIZ I 2= M = 0] A 2 |7tol e FCobE XIS, Hojct 2 18, viE E22X 8 13,000 1 13,000
24| O | 8 |2n, e ZIB A = [o/Rret X2t X2, 2252t ZREUAIL 1, OX Y 82 13,800 1 13,800
250 3 | 8 4R a8 ZHof2lo| HE XS o a2 283 siH 18,000 1 18,000
26 O [ 8 |&&: EFo =¥z oA 2H0|2lo| I8e 208, #3888 HX| 16,000 1 16,000
27| 3 | 8 |[Ast ez Zyiojglol|xe| & X3, I E @=¢dEt 18, AZ3 g4 13,000 1 13,000
28 O | 8 |mbEfmbEf sfdbeby| ZHof2lo| 22 XS 13,000 1 13,000
29 O | 8 |2l of MR E? mopo|Al |ZERt 8 X3, 3Lt 22 28, MEN g2 16,000 1 16,000
30 3 [ 8 |22l oHH L= 04 g3 X2 dMd 4 14,000 1 14,000
311 3 | 8 |AHCtEt 20| UCtH? L2 20| |ALE A XS, 8|2 M 7kM0F O3, Adsls &2 13,000 1 13,000
2 3| 8 [MAOA 71E M 2F LR X |=3 ofo|A X8, MU 222 28, A 82 13,000 1 13,000
33 3 [ 8 |7HE st =% 7|E| 32t*H X3, o|F3| &4 16,000 1 16,000
34| 1 | 8 |[&HE cHel gt 2 38 12,800 1 12,800
35| 2 | 8 [ES0| XL7tn Ct= thopZtE|e XS, 489 =4 14,000 1 14,000
36| O | 8 |EO0tet, 2tdet CHE ojut EIEAEE XS, 0| &4 14,000 1 14,000
37, 2 | 8 |Aam3 e OfL| FtAEIR X3, StadH &2 12,000 1 12,000
38 3 | 8 |&a8FH BHEA =25 XS 13,500 1 13,500
39| O3 | 8 [HfLtL; SO{L ta=2FUof [StOFA] 7|8 K|S, LIA S22} EA|Q 12, 18te g2 12,000 1 12,000
40 3| 8 |=9 CEZ2|& |RIE &2 XIS, HHAIE| siz|& 18, M3 &2 16,000 1 16,000
41] 3 | 8 [E¥0UZ UHE ZEQS S2{| 00| & [0l8t HXl=BIXI-StolE RIS, it =2 2, Olsiut 7N 2 £ 10,000 1 10,000
2 1 8 |9ZZ0|H EQlE0{2I0] |22t r|2 ot Zefet X3, 7t=a|Yet 2l 18, ZHst ¢ 13,500 1 13,500
431 3 | 8 |APMZE El 10| =ERYIYH HeFE X2, e 28 13,000 1 13,000
44| 1 | 8 [&0Op7 23O =@l o =& X3 2 &4 15,000 1 15,000
451 3 | 8 [RE[Z7HACIAE He WH =334 422 X2 16,800 1 16,800
46| 1 | 8 |FIFE=E MY OtE| giAS olcjojgHl| HotE2|N oLt XIS, HatEl &4 14,000 1 14,000
471 1 8 [E7I22 AKX EE O|2foto] |otz|etl D EHED AT XS, dEst 2 13,000 1 13,000
48] 1 | 8 2 W 1ol HhSolste~ | Xtot EfCHA| X|3, & AEF O8], ¥ S g2 13,000 1 13,000
49] 1 | 8 |22l 07| Aojr, == HEEAHRE) SIZE XS, 18+ I8 14,000 1 14,000
500 3 | 8 |o] #9 H7|= W Hof g2 [ ool Ojojof HEEE XZ, 22 & 15,000 1 15,000
51 3] 8 |[EEEE HEX| Hi 42 XS 13,000 1 13,000
52 O | 8 [QAA HAZIA =i o|0jy x|g, o4& 18 12,000 1 12,000
53] 1 | 8 [LfzeEtol = HEXT M4 207|012 XS, A=Yl 2ot 28, o|X|4 &2 15,000 1 15,000
54] 1| 8 |=7[tES =02 SHYA K|S 14,000 1 14,000
55| 3| 8 |t 2F5 =2 |20/3 ZTROIME X3, FAZHME &L 14,000 1 14,000
56| 1 | 8 (O] AH C} HfL}L} 2% |Mol& EXE X|S, ot 4 2, M2 52 16,000 1 16,000
571 1 8 =36l iRl O|OF7|= adOf! 28 [CEE ZE| XI5, et otmt2|Ale Fhetet O, 0B &2 14,000 1 14,000
58] 1| 8 |=50| = X S5 21243 XS, 8HE &4 14,000 1 14,000
59] 3| 8 |4 T AHQ| S35 o|lsE X2 14,000 1 14,000
60 1 | 8 |HIRZt otEE(o =43 22|7tet 2013 X2, 25 &4 16,000 1 16,000
61] 1 | 8 |22| CtAl X7 & H &4 HXEE 22 XF, o|FX 22K 22,000 1 22,000
62 O [ 8 |22l o 30| 41 oKl HE2 22 Mo XS, AN F4 25,000 1 25,000
63 O | 8 |25 OtMMet S5 OFE0H: & AtAE T3 XS 14,500 1 14,500




=M || 257 MY EEA XXt CHot = Hot
64| 1 | 8 |25 OLXMQt S ofF0H: = ALAHE Z3| XS 14,500 1 14,500
65| 1 | 8 |2HOH BO|H AMAE AM XS 13,000 1 13,000
66 1 [ 8 [Of2O2[EQl F¥ AAE Atep 2o L X2, FllE &2 13,000 1 13,000
67( 2 [ 8 [o7] FA0|E Cf U9 AKX |28 SHH3 XS, 0|2 2ME 18, 2+ 5 15,000 1 15,000
68| 1 | 8 |MYOIM 7HE Z2ot §X| MEH7|= dzl E X3, dd= &4 13,000 1 13,000
69 O | 8 |CHAl J2= MEOL NES(F) A4 XS 12,000 1 12,000
70| 1 | 8 [ztCtotop =M 2| R HOH X, =28 &4 13,000 1 13,000
710 3 | 8 (gl 719 EH gte gt XS 13,000 1 13,000
72| 3 | 8 |=0] &HI} QX 29 XS 13,000 1 13,000
73| 3 | 8 [o]ete] A =M =Y X5, Aloto| O & 13,000 1 13,000
74| | 8 |210{Oft =2 58& X2, &4t 28 14,000 1 14,000
75| 2| 8 [E AWQ ANECE! oS Ade|a = XS, 220 F2 13,000 1 13,000
76| 1 | 8 |== M= o|20|0|& 2|5t EAN2 Lo X2, g &4 14,000 1 14,000
771 3 | 8 [=&0] dddo|EcCt 225t a8 XS 15,000 1 15,000
781 1 8 O| Q% Lf% -?-|6;I- @' OE|3|-7 Op2| o =W X3, HE| Zo|X 18, del= &4 14,500 1 14,500
791 3 | 8 [H+el 40l 2R} STFLof oteE XS 13,000 1 13,000
8ol 1| 8 |2 73 STIFL|0f o|H3st XS 14,000 1 14,000
81| 1 | 8 [Re2l7t &2FHoH ERkeE opRofe X2 13,000 1 13,000
82| 1 | 8 |[ZH& Ao fla ojHt 2IEAEE X|Z, Ma F4 14,000 1 14,000
83l 2 | 8 [nE=2 L Hot CESEEESN QAEH AMAA XS, S2x &2 12,000 1 12,000
84| 1 8 [LI& Of0|, EX|=2 Ao A O (2 A2 OAEX|E 2t 24t XIS, YAE @ 7|2 13, 28X §2 15,000 1 15,000
85| 1 | 8 |=tol ®IF =2 A ojopE EEERECEEE 14,000 1 14,000
86| 1 | 8 |L4= O A, stuof ZL|Ct FUAZEA A XS 13,000 1 13,000
g7 1 | 8 |EE =¥ | AX[OF XS 15,000 1 15,000
88 1 [ 8 |22l 84 BE ZA | O|R% XS 13,000 1 13,000
89 1 [ 8 [ O, S0 EMR AH| m g |PEER A XS, Xt gete 18, 243 82 13,000 1 13,000
90| 1 | 8 [X7H Wi U oloplds BR7 STOA| fett Y] A &Y X2, LM 4 14,000 1 14,000
91| 1 | 8 [HECH B2 ekl H|OtE 2| X 2ot F X|&, L3 4 15,000 1 15,000
92 O [ 8 |}HISOAH F& ol f= EIh? M2 07| |EY A XS, e 2MA I8, shys g2 13,000 1 13,000
93| 1 | 8 |[Ohet Kf#ﬂ% MA0|2I0l| &to|C| REQE MEE X3, ojsot g4 13,500 1 13,500
Ul 1| 8 |558 FH| S YT XS 13,000 1 13,000
o5( O | 8 |&Alo O30 o|E2 EQICtH Molea|  OF2|of OHA|Z|Lt XIS, HX2 &4 15,000 1 15,000
% 1 | 8 |25 HOA S AT xS 14,000 1 14,000
97| O | 8 [o2tAtAt 2tH JHA Mol=a TE 23 XE, 2rd &4 13,000 1 13,000
98| 1 | 8 |7ICtel Ea Hda|= Mol=sm Al SE2tAR0F X2, O[MZ &4 14,000 1 14,000
9 O [ 8 |=8 7tk &2 Mole=a AREIL OI0|A X| &, 58 4 13,000 1 13,000
100 2 8 |But 32 X720l ENR? M olHtEt 2012 X2, ZE 8 15,000 1 15,000
101 3 | 8 |oHO|] W, ECI @5 gHL|CH Mo§olupg TE 2|3 Xg /X2 &4 13,000 1 13,000
102 O | 8 |AQIOIXM, =4+ ENK HoHelste MaExj X|g, 250 O 15,000 1 15,000
103] 2 | 8 [wo|ot T ERELTESN XY Xe 15,000 1 15,000
104 O | 8 |07 XA E D QUCt 38| LIEE| FHET X, 238z #oz2| O8 9,000 1 9,000
105] 2 | 8 |sCH7F SeiF:s w7t 3 xf o|op7) 7| =l [E2lAF ATE AAZH S, MEE A2 17, 2HE 87 9,800 1 9,800
106 1 8 QMO M 371 EEE |0 o= X3, Olf B2t 18, 890 g4 13,000 1 13,000
107] 3 | 8 |=Eesl EE YD HFE ER MEERE ENE X|Z, RUE &4 14,000 1 14,000
108] 1 | 8 [StOrHX|o ZLIR gaEE2H MEIM Ila 13,000 1 13,000 6.25
109] O | 8 |#E0 217 SHEIETHAL 4200 XS 13,800 1 13,800
110, 3 | 8 |22 22 ¥ =0/H SHEEThAL g3 XS 13,000 1 13,000
111 3 | 8 |SE =HHf 3|M SRR ol X5, 225 18 14,000 1 14,000
112 3 | 8 |gXA =7} & ECESEIEY ZHAE BILIMHIX] XS, 0| Z ) &4 13,000 1 13,000
113 1 | 8 |2222Q SHETHAL e XI:, 16,000 1 16,000
114 3 | 9 [oFQlsrEtQl: AlSZHE HolHe dF o 2y |MUZLUE Ed EU XE, 0| &4 15,000 1 15,000
115 2 | of [23H He gUdH A =334 Lold X2 22,000 1 22,000
16| I | o |5 & FHY FAHL S35 KtofCt X| & 15,000 1 15,000
1171 O |CH2 ofjS0|2 SZ0| & £=7I 9o SH3  |FOtAF &EF X| S, OJA|O] 7|REH7L I8, = &2 14,000 1 14,000
18] 3 | o |Cts 2ol ALAE Moz X| & 13,000 1 13,000
119/ 3| 8 |00 A 1077HX| AtZte| HX| ZH0{210] |£0f HEA X| 2, O|MEl g2, X RHAH QI%} 18,000 1 18,000
120{ | 8 [Lo| 2t @ X[LLE Sl [or=F2i=A0 a8 03E 84 M Hazazs BY, S0 BELT 0RO 14,000 1 14,000
121 1| 8 €y 27| grenlzj (A sy 2o0|= X| g, 01 0] HE O3, 488 &4 16,000 1 16,000
122| 0| 8 [DEQEYAE= EHRO|OF L Jgojd ojH2 X2, AdAd |4 16,000 1 16,000
123 3| 8 |20 E%’Sl glojLt EA OO X, *X|2l &4 14,800 1 14,800
124| 2| 8 AR 2= 21 233 [ene a3 xRl g2 8 22 2820 23, o2 220140 244 17,000 1 17,000
125|2| 8 |[HRR S22 U2 223 |22 2o x|, EME oz g 17,000 1 17,000
126| 1| 8 |22 1 235 [ELE 712U XIS, ELI B g, % A g 18,000 1 18,000




25 MY EEA XXt A Hot

8 |2&2 2 S35 |BUHE ZIEY0 XS, 2Y 28 O, 244 5 1 18,000

8 |?2I7l =70 0jX|= o|g 22/stm | T 2 & X2, 2 4, LI U+ 1 19,800

8 %I-JOF |]-| E| Ol_H :LEHELLE% A=HSI2A O{2t0|0f OrAE X2, Bl M3 18, BMY 2, FA 2 2002 A% 1 14,500

8 |EL : E[&E 20} 7%} RS 2 HiglH X2, 4ET & 1 13,500
of | 0 |[JEMoE BXEs 2|58 4 e =S X g 1 18,000
of 1 |17t 38 EBS BOOKS X & XS 1 16,000
of 1 |RElE ™Y &2 MESHE AL [dlzls] =& X|g, 2ol 23 %3, &8d 2 1 15,800
of | 1 |0|EE XYt XLUS Mo ME AL MB2 XS 1 16,000
of | 1 |52t FAQT}t 3EA g0 xS 1 16,000
o | 1 |getke &2 FLEA A Mof X5, HED 1 17,000
o | 1 |ot39 HA Z2Ess| B 7| X0 B4 XS, AN 1 16,000
of | 2 |d3el a2|A 20f Mg} SR/ESAL 24 XS 1 20,000
O | 3 |OIE[o] 2|HAl = (FrermesErE 405 Q| X2 1 16,000
o | 3 |M&S HE dSS MF 0[0F7| 2Rt @X|2 X|g, X[ &4 1 16,800
of | 3 |Oj2iel R E It BXt &% MEA XS 1 17,800
o | 3 [ojo]E9| AZSEH APAE sefiC| 0)7t3 X &, =54 &4 1 17,000
of | 3 |0 s (502HF 7|'E 2|7 of|C|M) TLMIY oM. BFH XIS 1 16,000
o | 3 |22 A= otojofjA LS ZAH OLE HEF XS 1 17,000
of | 3 |&MolH=dUY 2T 0 & L E| 4XE X2 1 17,000
of | 3 |9%x%t TR X XS 1 17,500
o | 3 |E&5t7| Mof oj2| SprEHEHH O R =8l=2 o|s4! X|& 1 18,000
o | 3 NESHFI | A= XS 1 20,000
o | 3 |9 H HO{2tRE ME XS 1 18,000
of 3 [2200= 2 HEHAM FEH 4314 50| X|2(page2) O|M7| XS 1 15,000
of 3 |2 200k R HHAM FEE A 314 0| X 2(page2) O|M7| XS 1 15,000
o | 3 |242He 3 47 glo| &o ZY2ESA 25| DX XS 1 16,000
o | 3 |#o| &F =20 Hotc XS 1 17,500
of | 3 |me 21xle] =X} ojof7| S22zt og AKX E 2AKNLE XS, DY S, 0|4 T4 1 19,000
o | 5 |LEtol SAER0| HLtE & HAmHER X224 XN& 1 15,800
Oof | 5 |229Y gA7t Mole 2F0|E2| TR OF [2ero=ioe=® 223 XS 1 19,800
o | 5 |[OfRE 27} 3 g yoF XS 1 12,000
of | 5 |HQ 28 Fot=gLct FAZESRS A3 3X|.02|7} K| XS 1 16,000
o | 6 |A & ol&0] ARE[RACH EBS BOOKS|EBS <O &7t2] VOICE> M| E 13|H XS 1 17,000
o | 6 |22iz/1 HT SefA YIE =33y fet7to| st27| X2, 82F &4 1 25,000
o | 6 |R07HE EIFSHE Ol oIS iR O|CHEM3)) x| 1 18,000
o | 6 |SZtOj&7} sys HHXIHY XS 1 20,000
o 7 |22 082 gof J23M =2|A 100 4y 1348 xe 1 29,800
of | 8 |[Bo 28 Zyiofzlo| His x|e 1 14,000
o | 8 |2CH} 2Lt HAIA 43H XS 1 14,800
of | 8 |XXH 55 M ZMHE. oY XS 1 16,500
o | 8 |EEHD HoIF 2 LH2 Ol X} A=A XS 1 14,000
o | 8 |RE7I 22 SHX AME = goliolad X 2 XS 1 18,000
O | 8 |SHFCHARRI# = S{Ef S X| 2 1 15,500
o | 8 |2 5N LEZdZ gt sl XS 1 23,000
o | 8 |Eh&=dtA EHEFSEA| ChopsHA| sads s XS 1 20,000
o | 8 |LtE Q20 S}0|EQ At =222 CHCRA] RH 22| 07t3 X, 488 |4 1 14,000
01 8 |_H7} %EE! >0 9)\3 |__| |:|- CHIZGCHISA) H|2 LIE|Z 2HE2tE K|, E0tA ANA O, dold g4 1 16,000
o | 8 |2ASHE O OpSAHA a2 XS 1 18,000
o | 8 |OiAX] YOt OpS A z29 X, dM3 O 1 14,500
o | 8 |9 & W F30 47t SOgCt oo Mol7t 2l X2, 4848 &4 1 15,000
o | 8 |HOIEOIM 2Lt =334 0 x4 X8, Jsle 4 1 16,000
of | 8 |stgyl | 42 s 1 16,000
o | 8 |HIHE| K =T SH X5, 0XH g4 1 16,000
o | 8 |HOIA AlAISE 722 QICH S A 512 XS 1 16,000
of | 8 |HEQIA SEAM7t 4gs XS 1 14,000
o | 8 |ZEolH SE a2kt 23X 7| tto] X, XM= &4 1 15,000
o | 8 |Lto| O}ELCH EHL] AHAE HEE XS 1 13,000
o | 8 |pldo] 225 HUX|EtE AAE 2aic| 07t3 X| &, =4 84 1 17,800
of | 8 |20 g & 202 XS 383 54 1 16,000
o | 8 |Eto|E0| Hashnt AAbET QXS 1 15,500
O | 8 |EMHIE SSEI0HH HE T MXY FAlB X2 1 13,500
o | 8 |Mael Zat BxiE S35t T2 MY H20t X 1 16,500
o | 8 |XIZ9l LIZ S&3sICt T2 MY o|&2 X 1 15,800




X |25 MY EEA XXt A Hot

of | 8 | otel XteFolx} MEgto|z gteet HlAR 3 X5, Y 1 16,000
of | 8 |&dzt CFS ST IPNE= 1 16,800
of | 8 |AEA AQIAMNHA 2 oleEsIckr O|F=7t 2|3 E X| &, 22 1 14,800
of | 8 |ofHol= =522 Mzste 40| £C} o322 A4l X2 1 15,000
of | 8 A9 gelMs HELIZ HEHZ X|Z, M0[¢ 1 16,800
of | 8 [#Y2 dziMs | HE2LE2 Haw2 X8, dMojd 1 16,800
of | 8 [RlY¥ozAMo| mAt 22|zt HME XS 1 18,000
of | 8 |&lXt (102t £ 7|'E mfo]3 of|C|M) STAHS P2 X XS 1 17,500
of | 8 | oA WEL|? FA=HER L Ao XS 1 13,800
of | 8 |&2 Y &7 PESEET-PN 252 X3 1 15,000
of | 8 |&57tol Ojay SFE3HA FAFE XS 1 16,000
of | 8 [slojE AN 42 SR 2t HME XS 1 15,000
0f 8 |FEHE XHEE O|OF7|L}E MR U5t XS 1 16,000
of | 8 |MEYLICEH nZ | 482 xS 1 20,000
o | 8 [OfH{X|9| st AX]| | X0 X|& 1 15,000
of | 8 |¢HTItE Of210|7} | K| | ARE XS 1 20,000
o | 8 |gE | =98 XS 1 15,000
o | 8 |EQ &7 7tA| 2H|OF Hofz| X| = 1 15,000
of | 8 |7I&2 HelstH 2lio] #e|=lct ZatL|ot ACHE XS 1 17,600
of 8 [olM 2M8, FEE MEYLICH (045 ofC|d) [2alolstes SHE XS 1 15,000
o | 8 |9M M8 B8 MEYLLCH Soltes g2E XS 1 15,000
o | 8 |[ME9 &Y Ea|Lol AR XS 1 14,500
o | 8 |HEXE AZEo OCHE J2|sHAl eIl QEH: &1 XS 1 15,000
of | 8 |[HEA LY OLEe BF 28 R} S HO 2 X, 0|5 ATl 1 16,800
o | 8 |ZFe AEIE[1 S0} /9 XS 1 18,000
o | 8 |XIg 528 YLt =71 Jo A X 1 13,000
o] 9 [3070 EAIZ = M AHAL seEgcitss (x X 24 A, X0|s &4, 2l OpA=0] Z 1 16,800
o | 9 |Xlzlel & ALO| g OHaF X8, 20|18 &2 1 17,000
| 9 |FE EAZIAH2 Mztold FAIE XS 1 17,500
H | o [0jo|S0] 21 LHA AMXFS0| BHSICH | 22X T [MEILE %E[Z x|, oto|H 20| 12, 1 15,800
H | o (Koo BEE2xn, AR St HIHAHEE 221 Ate K|S, o Zajul O, vigite @y 1 12,000
[ 1 [OHS2 9 oW} HrEdsAgs OMEE CHROF X, "HE 1 14,000
| 1 |[ME0F FF B A EO| 52 HRBdENES HE X8 08 1 1 13,000
X 1 (ot =Wz HE HZ DHS0] == MZIE | HiZHE A [El2 ¥ B2 7|, 9iH2 otz #2Y 1 1 16,800
H | 1 [2aMe, L Mzo] &g e? QI=Fores | A St x|, 22 OtLto]| I8, 1 15,000
H | 3 [HOoHE 2YS nECtH = ML XS 1 14,000
g 3 14/5_[-_!?_5' )\|7£|}5|,E |_|.9| ﬁ Idi _/'\_E EOJ% HERA HAUL XS, ZA8 &2, 0177}0| of7|at A=, FhLt B3t BE2 T YA 1 15[000
7g 3 7(|EIL% -g-a;l-_/tl_:|)\||:|-| %ﬂﬁ Y& 27 X, o014 0tst 7| & oI x| /M E{(WISET, 914 712 1 13500
H | 3 [ oo M2 ggoptH | 8% 9 X 1 15,000
¥ | 3 [t A2 Zo] EX ZE2& 10040 A HEEA AW X = 1 15,800
H | 3 [Eotsts AS wHs= H | O|CHs| X|= 1 13,000
H | 3 [100HE 23t et Hz2 S8 KX A QHC| Bl 82 K& 1 14,800
H | 4 [OITEO|AM 7|EIS DHEbCHE? | i35 XS 1 12,000
| 5 |[J2Er EHl2|et Eatol 2tore] Chat et M HR0-2.5H 2o} X|S, 2got 1 16,000
H [ 5 [NZE QoAEE HSolHa Hols 29 XS 1 15,800
| 6 [(1=7 ottrt SEE{FE HUF 0|07 HeRHEATE 0|58 X3, Lteo|g O& 1 14,000
H | s [2IEQH M ZH0f2l0| ULG XS 1 14,000
¥l 8 |89 Zyiojzlo| 18+ XS 1 13,000
H | 8 |25 &7 Ho|X| ZH0f2l0| o X 1 14,000
B8 |[HE st 3A 24 450 X2 1 13,000
B[ 8 |[=EMH0 e 2E2e oreofot O|X|Z2 X| 2, &I*F &4 1 15,000
B[ 8 |SxY & EES A XS 1 16,500
H | 8 |[Zzz (HE oC|M) OpS A 272 X2 1 13,500
|8 g a5, 240 XS 1 12,500
H | 8 |ZA 2T Zuwo|H & =225 ¥ 0|9t Z=X|ZIH|X| |2, &&|Tl 1 12,000
[ 8 |5Ce 24 ALAE 43 XS 1 11,000
H | 8 [OIER AHAE g2 X2 1 11,000
H | 8 |REIE tLict AtA A olgd=F XI= 1 11,000
H [ 8 |atu otofM AMAE s d X2 1 11,000
H [ 8 [H<o Eaot AtA A AMZ 2 XS 1 12,000
H [ 8 [ot=7|at 5t {20| E[7] AN AL A Lol X & 1 16,000
H | 8 [0+ =3 Mzand pNE=n/]==3 O|M= 9 X2 1 13,000
Y| 8 |87 ¢ ¢ | g5 XS 1 12,000




=M | 8K | 2F MY EThAL SRS =4 Ha g7t
253 & | 8 [O39 ¢ HH WS 22 XS 8,500 1 8,500
254 | 8 |9 & X = 185 X2 13,000 1 13,000
255 | 8 |[LPtZZ oF Ej&= AHRI0? IHEHAY olg= X|g, et a8 13,000 1 13,000
256 H 8 |AFEZ|EE 2™ A ofujet L2 I AHojle | ZotA ofIM XS 13,800 1 13,800
257 ® | 8 |Lto HIHUE Tts} (2|7 g FE& 2HM XS 16,500 1 16,500
258 & | 8 |42t XFE oL TAH X F 12,000 1 12,000
259 A | 9 |22f¥ 1~6 ME - He@ (B2 ME Zgh [2aom=scien L2 3| X|& 91,000 1 91,000
260 0 |HAf gt=2 28 X g, dM7 2y 18,000 1 18,000
261 0 KEHE Y ==H7| MEESHAL Sy As H2E O 12,000 1 12,000
262 0 |ESSME 9P S5 22 mA =4 2t70| A|ZHFEE X3, 0/51F & 12,000 1 12,000
263 0 |[x=S3tn 0/gj2 of= o|C|o motM AH| WS (240 9 XS, Zoto| A%, FZARFISIYC 7|2 10,000 1 10,000
264 0 [ALLNEW HEIERLIZ 1A dat: wstor WOl Alth, 2rhet HTH | Shy e [HEEUA H2 XIg, S22EH 201S 98, BRAUNTATL 8 15,000 1 15,000
265 0 ALL NEW E2|EfL|7{ K| 4] e} - HAFS A2 "R Q17 61-_42\_5'\_% Ba[EjUFH S2 X|g, A22EH 20|E S, shaatAETs 82 1 51000 1 1 5[000
266 0 [ALL NEW ERIEHLIZ RIA] #3t: M&el AR B, @F | Sf& 2 B[220z 22 X8, SAAEH 20/E 98, AFATATEPL §Y 15,000 1 15,000
267 0 |ALL NEW HE|E L X|A] et AMH| 230 CHYst ME '6I;|-_’E~=_/'\_:'=,_|L HE[EjUA §4 X|F, A2|2EH 20|E 8, SR ATL &2 ']5'000 1 15,000
268 0 [ALNEw SEIEfLZ RIA Dk aHO ARS, Dohet BN | Shh L [HRAHUA B2 XS, 2IARH 20/E ¢S, HIAUINTEDL £ 15,000 1 15,000
269 0 [ALNEw =alEfUA RIA Wit 27t Sste @51 U | Shd e [RARUP 52 XIS A22EH 20/E 948, BRAUNT AL §Y 15,000 1 15,000
270 0 |ALL NEW HE|EfL|FH K| A it o|Msta AM7|sE EA 61-_42\_4\_% Ba[EjUFH S4 X|g, A22EH 20|E S, shaiAETs 82 151000 1 15[000
271 0 [ALL NEW HEIEHLIFAH R4 #inp: Z2E N, K| | StE 4 [22EUA B2 X8, A22EH 20/ 98, dRApATATL §2 15,000 1 15,000
272 0 [E2[EiY> : HS7] ® 5= & o[of7| ohE=5 W71 4 ol XIS, ofjolnl Jatg o 3, 241 $2 22,000 1 22,000
273 1 [Otg & A M RED CHtol & 43 X g, olofz| O 13,000 1 13,000
274 I N = LS00l Fagt X8, 2x 18 13,500 1 13,500
275 1 |Wf 20| oA HiLILI S [22lof B2 E2 X5, 7101F siH o2 08, d3F &4 13,000 1 13,000
276 1 |o|E Aozt Westk| 2 HG| HEA MBS X g, 2 O 15,800 1 15,800
277 1 [ofZO|E ¢l O 3% =St 0Eol O|FE K& 14,500 1 14,500
278 1 |HEor AY MEA FE2&TH0 Lt 23 X5, 548 &4 13,000 1 13,000
279 1 Pt = QI8 53t 1. XpAZ SHESEYE 233 X2 9,500 1 9,500
280 1 ZHtemd= o453} 2 : v CHEMEEE 233 X2 9,500 1 9,500
281 1 PHIeTH= 08533 . E2 &8 SUESEE 233 X2 9,500 1 9,500
282 3 |EAtoto| ofxtoto| JMSAL| XOIL} O|AE™E} X|F, DR &4 14,000 1 14,000
283 3 [SmOIM ZIENFR| R|GH HHT| o) B Lotop ¥ AU = 24 SROE QOF XS, NS 82, A7 |HI2E OHALR 7| 2= 12,000 1 12,000
284 3 [EROIM ZFEMFX] GRIT BT QI8 £ 2otop F AS : 2lEY 4 Z|2|EtL] Ht X8, 3= &4, 5|7t O0|7|Lt2| Z= 12,000 1 12,000
285 3 [HROIM ZHEMFX] X HHT| fie) £ Lotop & AS : AT e LILIO K|S, 3= &2, 7IA2E |3 Z4 12,000 1 12,000
286 3 |SF 1|==1]Ql =ojjHia} REAE JgH X2, WxiE 28 18,000 1 18,000
287 3 |H2lE =3 Hi 48 K= 13,000 1 13,000
288 3 [FA ALLE 77 H= R A2 0[0F7| | ded Xg, 2dy 28 14,000 1 14,000
289 3 peds el £ M2 EsHAL i3 s ded a8 12,000 1 12,000
290 3 01 E_‘_| o| | |:-| 01| EDI l(:)r Q7| e X8, X 2, AEMHASAHTY ofR8tA Z 13,000 1 13,000
291 3 KEES| AN Cjsttl= 1 STFEL|0f date X5, 5w 18 13,000 1 13,000
292 3 KEES| AN Cfstnlg 2 STFEL|0f date X5, 5w 18 13,000 1 13,000
293 3 |8= e BXE 25FUo| 2H ote X3, Zdx0| J8, ZM3 &4 13,800 1 13,800
294 3 (A AFY LI HE FUORRKEHAUD 0] A7 2 XIS, 7hefetat O|=0te 08, ddsl £, M2t =83 14,000 1 14,000
205 3 [@mE ot of2lo|2 o|Bof F& FAln £xfolop7| | mmpA 2iCts) X|S, gtMs) 12l 12,000 1 12,000
296 3 [Hote A #EX =oMTH =4 138 XS, doF 38 13,000 1 13,000
297 3 |mERELIEIO| 2w 0|0F7| Z80|c|of Mol g X5, 482 J8 13,000 1 13,000
298 4 [utstol BOOM 1: 22| & EBS BOOKS| O|AQ X[, 0|Z2AM 18 HEF U= 13,000 1 13,000
299 4 [utsto] BOOM 2 : & EBS BOOKS| MdliZd XS, 0|Z2A 18, HAEF U= 13,000 1 13,000
300 4 [utsto] BOOM 3: A& EBSBOOKS| O|AQ X[, 0|Z2A T8 HEF U= 13,000 1 13,000
301 4 [1t+sto] BOOM 4 : X|# EBS BOOKS| MdliZd XS, 0|Z2A 18, AEF U= 13,000 1 13,000
302 4 |X|DCh opst S7|A EX| 1 EBS BOOKS LI0Y0| X| &, 0| I8 12,000 1 12,000
303 4 |FnChH 0ps 7|4 X 2 EBS BOOKS HE0NY0| XS, 23R JE 12,000 1 12,000
304 4 |XDChH 1p8t S7|A ©X| 3 EBS BOOKS HFRN0k0| XS, 8312 12 12,000 1 12,000
305 4 |XDChH Dpst S7|A EHR| 4 EBS BOOKS HFRN0k0| X2, 231 12 12,000 1 12,000
306 4 |Z[ACH upst 7] ©X| 5 EBS BOOKS HE0Y0| X2, g% 18 12,000 1 12,000
307 4 (00| FHE AN LN IHRLALEE ded Xg, 87 28 14,800 1 14,800
308 4 (MAe BE B2 2F0 UCt S8 [ ERe xg 84 £ FRuaneY d+ 15,800 1 15,800
309 4 |UH| . SEECH @2f Mot 2 2Fo| ’|Y [ 2 X dat X2, U EH 7 A8, 229 F2 19,000 1 19,000
310 4 (@5 A Z00|E Q3 22| LIAZ=L|of |22t Ho|#H XS, ¥AA ZAH I8, AT 82 15,500 1 15,500
311 4 |ZEgolel &= M Chg [7lofet AEelL 9 XIS, FEl & 18, 49is 53 12,000 1 12,000
312 4 |29 0|2 CHd==2l| &2l 7| XS, 0|20| &4, ZA &+ 26,000 1 26,000
313 4 |=Xe BE A = O[AHE EMA XIS, i et =LAt O3, sislel &2 18,000 1 18,000
314 4 |REE0| AabEl A =3oto|S|ota 27| x|, Kot 2|2 28, A2H 24| 14,000 1 14,000
315 4 |HF, HO|q A 2fel  [mlol= atsiaE R|E, MERAEIY M=) ad, olMT S 13,000 1 13,000




=5 MY EThAL SRS =4 Ha g7t
4 [AlE LI9l & HF A5 X2 d=g3 18 13,000 1 13,000
4 |0 EEA} 1 Ol2H 0Ol M & |0 T8EAL K|g, BEH 1, #&0| 2, CJ ENM Cholof Ele| 24 12,000 1 12,000
4 O] 2HEA} 3 Ol2H 0Ol M & [0 TEAL K|S, BEH 1, #&0| 2, CJ ENM Cholof Ele| Z= 12,000 1 12,000
4 |of|EtA} 4 Ol2H 0Ol M & [0 T8EAL K|S, BEH 1, #&0| 2, CJ ENM Cholof Ele| 24 13,500 1 13,500
4 |o|HtAL 5 Ol2H 0Ol M & [0 T8EAL K|S, BEH 1, #&0| 2, CJ ENM CHolof Ele| 24 13,500 1 13,500
4 [o)2EtAr 6 oj2jelorol S o T8PAL X2, 2FH 18, 9a0| 2, Hs U4 13,500 1 13,500
4 |of2EtAr 7 ojzjelotol i [of THPAL X2, BF# 12, 4a0| 2, ool A4 14,500 1 14,500
4 |Z[Z S& AMHO|Y CHEla} HFO| & O| 213l F¢, JHIOFA| QA|M Zh== 13,000 1 13,000
4 |=2te o= Hal da W2 XS, 20 E ofgl=E 18, 0|5= &2 31,000 1 31,000
4 |7FE2 o8 £ E0| ENf? S35 & 2XE& X5 el &Y 16,000 1 16,000
4 |0 B2 8E2 oCZE ZtKe? =222(010| 7tOrE} Ot O] X| 2, HEFE &4 14,000 1 14,000
4 .g.{j/gg A|—'§-I:_H‘73|I J'I_|-'c‘>_'|l-_]j|_g 23 []|/g% )\|.§|rg% A EE IfEtng e 9 X5, 2 9 28, B2 24 0|2 Y HEE 11,800 1 11,800
4 %{‘jgﬂ A|—'§-H_1|E|| J'|_|.'c‘>_'||-_]j|_g 24 - HH:|- A|-§|Ig% ALZIBE Dt gdTa X|Z, Zoldt o 8, WEz A, 0|9 g 11,800 1 11,800
4 [8MEO| A|ZHA NSt M 25 : O X] | Atg|H B2 |HeI88 Henstva X8, Yot 2 18, dgst g, oled HuE 11,800 1 11,800
4 (8o Al BN WSt WA 26 AFD HM | ALS|H 2 |MHRE AuRSGTLAS, ZuL 2 2T, Bee U, olFL HAE 11,800 1 11,800
4 [BMMo| AlEHN notud 27 . ALS| M 2 |Me1Re 2nasars A8, 2oy 2 28 wile 24, oled AUE 11,800 1 11,800
4 %A_—Ugjg A|—"é—l:_H|7§‘ Il_l-‘o_'||—I||_/é| 28 )gEH ﬂ§|. A|.§|rg% ME2 21, Zest 9 18, =47 24, AlRBE ngaPs 74, 0122 JHE 11,800 1 1'],800
4 [8MMo| A|BHH nistnA 29 29 | AIG| T2 |VeI82 HenseTa g, Yt 2l 17, YEet U4, o9 HAE 11,800 1 11,800
4 .g.{j/gg A|—'§-I:_H|73|| J'I_|-'c‘>_‘|l-_ﬁ|_g 30 : %Ug! A|—§|rg% AB|EE SRR TA X, Zeid o O, WSz U, 0|2 Y 11:800 1 11,800
4 |[B4Mo| A|BHA atstud 31 XS0 B | ALS| L2 (MHBE AuneTL G FHY o 18, W2 U 019U HEH 11,800 1 11,800
4 .g.)lkj/gg )\|-"EJ-R:_H|73|| J‘_l|-<‘:_'|L:|,_)~EI 32 éfé}%gl -E—E| A|.§|rg% 284 XIg, 4% 9 OB, =T L4, ASIEE DS AL 14, 0|2 Y HHYE 11,800 1 11,800
4 |EMMo AIZHA tstu A 33 Ots AFS| T 2 (27 X5, 9o ol 28, 2 3+ NaBE Aunraes 70, 0Fd A= 11,800 1 11.800
4 [8MMol A|BHN st d 34 HO| XY | AlS|H 2 (28T 2| XS, iy 9 18, ¥5 A=, 012 HEE 11,800 1 11,800
4 (&S 22|74 B700| Z5EQUCtn? = xH et AXM X F, X|Fo| O 13,000 1 13,000
4 O|E% 7c§0|§_$_ % PLJ|:-|I1|F¢ Ok mtg AFH X|5, 0iC| U =2x 28, YU 4, 28t U= 18,000 1 1&000
4 |[ZotEte! SEEE M0 Als SEE  |[fI=Edes HE20/¢R X5, 0|l o &A= 14,800 1 14,800
4 |=Al ME B FromEons | i ZE HHOIX] OV X| K|S, dete U 11,000 1 11,000
4 |& 2= 435t 0|0F7| ZIMofo| [oict 2ER XIS, & HAH O3, AR £, LS A 18,000 1 18,000
4 1£7|- %Epfﬁ 01 Eéi}ﬂ EE|7}|-? X_|H %E_E_ 22| AE|L} AF20FS-72t0|H X|Z, fEITHL O2|Qt O 8, a0 £ 15,000 1 15’000
4 [ADIEEZS £ M= S0| T Aol |32|~E|Lt frEFIRRl XIS, DI7| AbOjO] O, 2tETH & 15,000 1 15,000
4 |[2EIE &0 MEjA Molea| 2ol ol A ET AT XS, 22Y 24 22,000 1 22,000
4 [HIoS : Af2tN 74 of & 0]of7| oEenEnEe 423 X5, o|F0 18 15,000 1 15,000
4 =2 oM7Y 22 OCIoM 2 A7P|EE72)Fel[o2-dH 22 XS, HT £, 2ol g 10,500 1 10,500
4 [0S MER= SS9 M 7|Cte| PPHE o= X, J2|of AECA O8, I &4 18,000 1 18,000
4 |ttt AsiX| = HE Oty EadpEnsy(2 g A X g, W7 7|H O, ol2d & 12,000 1 12,000
4 [oHet 0| E 250|7t EfAAHE TS0 =4 ox|2l x5 #ded 18 13,000 1 13,000
4 |AH[OIIHE AHH =5 4l 1 SHBAE R MXE XZ, 47/ O8 12,500 1 12,500
4 |MH|OIDE ADA 48 Al 2 HUBSAEEE) MR X g, 47|+ 328 12,500 1 12,500
4 [HEH BHE= 80| A} sta4 i [Z28l0/2 7|HE XS, 00|12 ¢ O3, 242 82 15,000 1 15,000
5 |QAt Of#IA 6 LB|27|, XKt O|FE ot |PILEEAH  13H XS, =W 12, A 2= 13,500 1 13,500
5 |&2 E;%aH [4 D-| §|I-Jj,_ Ofact 7k2Z2t3sr X| g, HEH=&2tE ojxu2 1Y, M5 82 22,000 1 22,000
5 M Sle =82 ofEA A0? 2tol  [olst diFoi2E Ras x|g, YH2E BE 17, YR} 82 13,500 1 13,500
5 |2E& OMEX| 0| M 7| HBFE XS 14,000 1 14,000
5 |DK E2t2 QM| & Cfsea; HO| & oz £ X|Z, Y8 &4 14,800 1 14,800
5 A7) MEZ 7HEo| Y| gr20(2 HUSE 28 X5, #Xd &4 15,000 1 15,000
5 |5 B oot sdl =i LEXE 22,000 1 22,000
5 | XtSA HE [E JEZE XS ¥Ts 4, s # 22,000 1 22,000
5 Lol A HE 2| X 233 |HoHE ofME X, 2o/ AHA 18, Ren &2 19,000 1 19,000
5 |AI#E X7]= HE fo[2E wotE [FrEl EE XS, 2 2FYW 18, AL & 13,000 1 13,000
5 [HFE=E XI7|= &t of 0[of7| MEHZ|= L0 X| &, O|atE J& 13,500 1 13,500
5 |dxfsel ezt B HaM 6 o225 |ZHME 7|8, BM2.0102 2 A0 O3 14,000 1 14,000
5 |dxise ezt B HaM 7 o225 |HME 7|8, BM2.0102 2 A0 O3 14,000 1 14,000
5 |dxisel ezt Bt HM g or2s [HAMS 7|8, dM2.0/02 F A0 O3 14,000 1 14,000
5 |[SxfEel ezt B HM 9 or2s [HMS 7|18, dM2.0/n2 F A0 a3 14,000 1 14,000
5 |[8xiEe IF B HaM1 ot2s |[HMS At X8, el a8, wed 4 14,000 1 14,000
5 |[SxfEe IF B HaM2 ot2s |[HMS A X8, el a8, wed Zs 14,000 1 14,000
5 |SxiEe oIF B HuM3 ot2s [AXS A X3, ool O, wed 2 14,000 1 14,000
5 |8So olF B B1M 4 OI2E |HMSAaT XS, 430 J8 MEy U4 15,800 1 15,800
5 |8 8o 22 ol 277X 2|5t =20t FI2 X &, Bdd &4 15,000 1 15,000
5 (MM, Bte{S 20t SA A2 ofEH ojof s 22 |[HtH S| olgn X8, =88 18 13,000 1 13,000
5 Mgt s TR A AYOXE, dFe I8 11,900 1 11,900
5 |71F 9171 AICH, O{ 20| It 7|= Bl O[Op7| | ErmpA EhM 3| K|S, EhMsE 12 13,000 1 13,000
5 |[KI7et 0l E fIHste F 87| 0|op7| | EIbA das XS, st 8, 22y U 12,000 1 12,000




25 MY EEA XXt A Hot
5 |[=MI ZatAE M2 ZE2=U0f|LC|H AHEZE X, Y7t H1 1, 22t 1 13,800
5 |8 X4 FEEFUO ofLt Ezfol2 XS, ZME &2 1 14,800
6 |22 F0[=0| (PR =S XYoL A28 XS 1 17,000
6 [The Champion 2022-2023 : & & 70| E& | AD|C|0f 29x 9| x|, BtxY| Z 1 29,000
6 [EE 2E2 ot=7| CHEH HiO|Z O|X| X|&, E¢ J8 1 13,800
6 |[¥E 7H2E J2|7] iEH ol OlX| X8, ¥a 18 1 13,000
6 |[=SsHME st MY O|EA Agofglo| o|Ag XS 1 15,000
6 [Oj2lo] BXl A= Al 2FL|0f 2ol B2E XIS Holb|E HEelx 17, 2R 8§, B2 U 1 18,000
6 |22l 2% o|op7| Al ZFEL|0f AEN X, =0 28 1 13,000
6 [& 2OiC] 22| 2y HoHelute ol X, RojAH I8 1 12,000
6 |& 2HOC| OJ& A Mopolurzt| oA X|F, Ol ™ 8, L85 T 1 12,000
6 |7t D A2 F RICET] Hiutet @ XS, ZAT 24 1 14,800
7 |nEt 2F oS FOIAT WA wEAI HE R XS 1 37,000
7 RKEsYE 22T AIRFEY MEESHAL ey X3 328 18 1 12,000
7 |x=8 B 80 ¥ SIEA st o X8, A%t 28 1 13,000
8 [CI=4 & TAS| AMHIZR X =& Lunchbox 2E CELIA XS, 2R & 1 30,000
8 |[feEl7IE2 HE & YL HHe Xg, 0158 08 1 13,000
8 |22[0fO|E{ 7t ZtC} U e ZH2E XE oy 18 1 11,000
8 |dH|E CH HY s Shdzt X[, o|AE 18 1 12,000
8 |Oh= AN W=~ = DI 2 4X| Y X5, 472 18 1 13,000
8 |Q2& BHEt = DI 2 s Y XS, g 18 1 13,000
8 |3 Of7t Liste| AFR{XFD FHCH azls gy x|, 282 18 1 12,000
8 |KlZstn ded azls MK Xg, ¥ 18 1 11,200
8 [AAY HEMSLICH I E 29 Xg, e O 1 12,200
8 |FIEHE AT 2 J2I0f = |ofLE RE x|, YAt X0 22, &ojet 1 12,200
8 |22 ¢ on} J2lofE o|=3| X5, Xgol J8 1 12,500
8 [HIHZ[0|M £ H|Y ZX| J2lofE AP XS, stE2A I8 1 12,200
8 [ol&st DiXf THA MHEE 1 (2IAHHY O|C|M) [ ZHAE |SI2AI0F 0|2 XS, XAF 28, 4% U 1 12,000
8 |0|&fst Xt JHA MM 14 ZHAZ [5|2AI0F 0| R X| S, XfXf A8, HFs & 1 12,000
8 [o|&st Mpxt Z4A MEY 15 LAHAZ [s|ZAI0r 0|2 K|, XpAF I8, 243 K2 1 13,000
8 [o|Ast Mixt 74| MEY Z4] 70|ES [ ZHAE |SI2A0r 0|2 XS, ApAF 28, A &Y 1 14,000
8 |EE oAb 1 ZHAZ [sIZAI0H 0|2 X|&, DO dop 8, st &Y 1 12,800
8§ |mEMZ = EM 457 YA 228, 948 4 1 16,000
8 |=d= 7t 1 = | ~Friends |2 A|0F Yo|2 XS, AXY &2 1 12,000
8 |21|9| oto|E SHEELCt?2 M 2Friends |5| 2 A|OF 20| 2 X| g, 0|2 18, XY & 1 13,000
8 (219 OI0|E ERtEZL|C} 3 M AFriends [S| 2 A|OF 20| 2 K|S, 0|2 18, XY &4 1 13,000
8 |21|o] oto|E EEIEELICH4 M 2Friends |5| 2 A|OF 20| 2 x|, 0|2 18, XY & 1 13,000
8 |21|ol 00|12 ERIEZILICES M 2Friends |5| 2 A|OF 20| 2 X| g, 0|2 18, XY & 1 13,000
8 |21 Ol0|& ERIEEIL|Ct 6 M2 Friends |S| 2 A|0OF 20| 2 X| 2, O & 18, XS F4 1 13,000
8 |21|°| Of0|E 7|1 U&L|CH1 2 Friends |S| 2 A|0F 20| 2 X| 2, O & 18, XS 4 1 13,000
8 |7|Eea} =& Ste= X8, 47xlst 28 1 12,000
8 |mH Flo AH ChE 22 Q 2= X3 4ZE% %4 1 14,800
8 |AUA| 22F0| 2Ll ELEL ZE9 g, 22 18 1 12,500
8 |22l Ht M3 Y LoisoEol REIE X3, d3E 28 1 12,500
8 [LH X7 o] A 2 ENU= O| X2 X5, E9Al I8 1 13,000
8 [70d gtof Eot2 HWX| OFZH]| MR X, AxE O 1 12,000
8 |LtE 71 HtEaE? OFZH]| MN2g X, Aol O 1 12,000
8 |7 O0h2ol& 43= XS 1 18,000
8 [stuftorea? 00| 482 X3, 273 a8 1 10,000
8 |EEE XIEM op=d M2 Xg =59 128 1 13,000
8 |=& 2mX| MX 2= o= AIO|E CHIHA XS, R3] &4 1 13,000
8 ||z A4 Zel0|l HAEH| 254 XZ, 38X 28 1 13,000
8 [&of ot SR GA oLt 2 X3, LT &4 1 12,000
8 M ol= Y0l MEX| EOIRIGA o1gs X3, o224 18 1 14,000
8 |=starof 11 ojzelotol M [E 3Ol XS, Rts| 12, WHts 2, AT 24 1 14,500
8 [O/AH BX| 2otts =ai? OjAM 7] getM X3, ozl a8 1 12,000
8 [Otuo| ME Btarelotol 5 Aoixl XS, &gy I8 1 11,000
8 |GE oA Aot Btarelotol 5 Zojof X|&, ojojxl a& 1 12,000
8 |l =Estm HeE FEY XS, g O 1 11,000
8 |49 ILWX|E c2UAQ H2E o|58l X| 8, gtedF a8l 1 10,000
8 |52l LRI 1 ChA| ARt = MY gr20)24 =48 X8, 28Z 108 1 12,000
8 |25al SILigl 2 HE A2 2l & g0 40 X, Z9A O 1 12,000
8 |22l stLtal 3. gojo| opxjat g7 g0 40 X, Z9A O 1 12,000




25 MY EEA XXt CHot = Hot
8 |2Fal ott2l 4: 19993 ArATt & CHE2 282|| gr20|2Y =38 X3, S¢A I8 12,000 1 12,000
8 |52 otLtgl 5: StLtzlol =t gr=20| 24 240 X8, 82A 08 12,000 1 12,000
8 |[ZotCh Bt 10| MzIctH EES Z2F X g, olgE 08 12,000 1 12,000
8 |7t TR RSt= A EES s XS, dFe 18 14,000 1 14,000
8 |=HX| &= EES o|g2 X|&, 7AI¢ O3 12,000 1 12,000
8 |[MEWE 0| UE EES BEgx X3 283 O8 12,000 1 12,000
8 |¥ & 2ol XA EES o8 X|§, 218 18 12,000 1 12,000
8 [SY0lE H{E &H EES olgd x|, 250 18 12,000 1 12,000
8 | EMEESR EES HHs X g, 250 08 12,000 1 12,000
8 |50/t 2EZ0| OFXM Ha| HEd X|&, Ol 18 12,000 1 12,000
8 |M 27| HEl F=Z X Z, 7HoiCgotoy) 2 8 12,000 1 12,000
8 |7t ofjeuct? =3 2ol X|&, o|Hoj O 15,000 1 15,000
8 |[sHol4 HY H &4 ze|g| X5, dojg 18 11,000 1 11,000
8 |25k 8Ol 1 H| &2 ol X|g, =0X 18 11,000 1 11,000
8 |22| £2| 0|of7| H| &4 Mol X, 7HE J8 11,000 1 11,000
8 |[=M 1 ¥ H| &4 288l x|g, o|ge a8 12,000 1 12,000
8 [HI® 2 &M EE H &4 /3 X 280 28 11,000 1 11,000
8 |=A da H &4 71 X8, £ 28 11,000 1 11,000
8 |7Iol HIE AHAE o2t X|&, AEY O3 12,000 1 12,000
8 |Lt= 7|9 Aot AAE 24 X8, 20 28 8,500 1 8,500
8 ool gle AR EE ot 7|22 US| AT | AtAHHE 2ot X2, Az 1 13,000 1 13,000
8 [ol& OrZ X-S0]|0F At ZHA XS, K40l 28 12,000 1 12,000
8 |[8= cign 28 Ao E M X, HZ2 O8 12,000 1 12,000
8 |z At ME{ A A&+ X g 8% 18 14,000 1 14,000
8 |[MHIOIIIE @M oM 2 ML 0[0F7]| : 3X HAE (MEESHA WE|A 23|™ R X2, Hed 18l 15,000 1 15,000
8 |[AMH|OIIIE MM 22 0|0F7| : SEA Y |MS 2t HE|A RIYIE XS, M2y O3 15,000 1 15,000
8 |[MHIOHIHE %M RAR o[op7| : g 2 (MESESHA  We|A R3F R X3, 82 18 15,000 1 15,000
8 |OFEICH (BFAEh AEBFELIO|2LE & X, T S20/3 1, 2+ U 11,500 1 11,500
8 |Ztudy ool =M 1 mE| WS 75l2h [ o2& A&2l X5, 0148 28 13,000 1 13,000
8 |[ZtiidL] OFol =X 2 O3t Li2to] H2l~ [ Of 25 otdE X g, 0143 a8 13,000 1 13,000
8 |ztuldul ool EME 3 Yattint o x| of2E X|gel X, 013 23 13,000 1 13,000
8 |UUCLiOrEel =M 4. 2z DHEATLE 2L | O} 25 otdE Xg, 0143 a8 13,000 1 13,000
8 |ZtLidL OFEHol =B 5. Wzt 2| 0 [ o2& AsEl X|g, 0/4ds 1Y 13,000 1 13,000
8 |[¢tL L oto] =M & 6. 2107t &l LU o225 H8E X|g, 0|E3 O8 13,000 1 13,000
8 [ZtudL ool EME 7 MBS0t otgel M| o8 xS92| X8, 0|3 13 13,000 1 13,000
8 [¢tLElL oto] =gt g oMt J88 [ Ot 25 Xsel X&, olgs 28 13,000 1 13,000
8 |1389 E7) YatesA ghei Xg, #xe 18 12,000 1 12,000
8 |n¥E MR ME - H10d HEEA 185 43 143,000 1 143,000
8 [AHXTo Mz =M d3te X|g, CtL 28 12,000 1 12,000
8 |[&== It= oto], =H| EH AT x| g, Fex 28 13,000 1 13,000
8 |&ate Ztuof LESHAIAS LI X MX|S X|E, o0 O3 13,000 1 13,000
8 |22 Hat CHME AFBL(Ct 22 ns Zdict X5, 22 O8 11,000 1 11,000
8 S0l SFELE HAtE X2, d7]8 28 13,000 1 13,000
8 [#M 719 2=t SEFUY s X, 2EA O 12,000 1 12,000
8 |9 & Apzt SXFEL 220 X5 R4z 28 9,500 1 9,500
8 |A @ JIAHQF OFHALS 2 gi=gsle (5| = Al0F 0|2 K|S, ALCHA| 0|% 13, 0|2E £ 13,000 1 13,000
8 | & JIA|QF OFHAIS 3 gI=gsl2A (5| = A0 0|2 K|S, ALCHA| 0|% 13, 0|2 £ 13,000 1 13,000
8 [E3012 2lAt Ol x| 5 A XS, 0& I8 12,500 1 12,500
8 |AIZt nol Ol x| 5 ghoje X| 3, 8t O3 13,000 1 13,000
8 |AlZt 20| 2 O|X| = 2ol X2, B a8 13,000 1 13,000
8 |59 AOLE 3tsliAl7 2t Faxojzol e Xg daF 18 11,000 1 11,000
8 |[S™ol 15 Fa#oiol o8 X5 A& 18 12,000 1 12,000
8 |=UX, R FUAASA SAEH AAA XS, s &2 11,800 1 11,800
8 [HIo Al stu|zlz| 1: Q1| FA0| |2 Wt [FUAYA S| Z A0 0|2 x|, L& OfKtO| 18, 132 &2 13,000 1 13,000
8 | M ZOHX] ZO0| FUOAIA O|Fot x| 5, 4zt O8 12,000 1 12,000
8|S AlYE 2R FLOAGA A=t X| g, ktato] a8 12,000 1 12,000
8 |E= | 23t X8, 250 I8 10,800 1 10,800
8 |FE AtXp et 4 | oA X| &, 2R3 18 12,000 1 12,000
8 |Z=E AR} 9L 5 A ol X g, 2est 18 12,000 1 12,000
8 [mCH HISHE MAiL AHH| gtoj4d X|8, gEte 12| 10,000 1 10,000
8 |EtAE HIY LS [iLt 25 X, 20 HEE O3, 0| g4 13,000 1 13,000
8 |A|Zte HEA DLz S &L} MESHT||MSE & a8 XS, A Box 28 YUY 5 11,000 1 11,000
8 |X[1Q| &tE L= ot MEZ07| ARy X8, ojzt 28 11,000 1 11,000




25 MY EEA XXt A Hot
8 |3 HlE| M= o|MzF X| g, ATz & 1 11,000
8 |=% M, It £|ct MoyolurE 2018 X8, 222t J8 1 12,000
8 |t & &td & FIHH|E Fot2H HoHelute Max XS, dojg O 1 13,000
8 |SCOiet U E=0| FME X g, gojls 28 1 12,000
8 |2 HAFO|Z 3 8otes M2 Xg, szt O8 1 13,000
8 [MAE ot e 38312~ 1YL X g, 2Hs 18 1 12,000
8 |5Ex0| & FEt 7|Cke| RYF X, dE0 O 1 11,000
8 |RYEE 220 ui iEsssOER D syof X|g, =35 28 1 13,000
8 |KIsl B2+ @ AEF 2X|3 JIEESACHED ot X1, MR™ a8 1 13,000
8 |l Atd# O|F9 1 EES dold Xg S5 18 1 13,000
8 [ =4 QB =X I} 2t 7 4813 XS, X2 18 1 10,900
8 |YUIH, S d™, ofE MAE™ oHRAFEA | 28 X g, 383 a8, WX Y4 1 11,900
8 |t = & FoI FAK! EHota MRA X, =5 O 8 1 11,000
8 |HICHO| M TotA 30t X| & 1 14,000
8 |22| 2t o™ of oA M2 X|g, gsizx 28 1 11,000
8 |2tjo|et £ AO0|E X|AH F! EaiE@2E 4 X g, Ege 18 1 13,000
8 |2EEH SjAElD Y Fos Xg, 282 18 1 13,000
8 |Lto| oL, LEEA malxs) M V. X|0t27|.20|= L §o|A X| g, X 2X.A™¥2S L 1 15,800
8 |Aetrl 22 HE F0tA SrEEEA =X 2 X, o772 I8 1 12,000
8 |l Fol 5=50| #ota! EES\ ozl 3z|Ee X, 0|25 &4 1 13,800
8 |x=sF a0t SHYZTHAL ol X| &, 412 18 1 13,800
8 |=7t ®Hefle 2| ot B 42N x| g, M=z a8 1 13,000
8 |[=E7 8 2o 2200l & Ld X8, 254 &4 1 14,000
9 | T2E Z4/9| AAZF FF! nopo| 2E 9EE X8, 22X 18 1 12,000
9 |FElEtTA Me4H[60H + T2+ HEH + ATO|H]-7) LB ETHA} 1 278,000
9 |99 EtMo| A™R =7t gF 188 Xg 424 18 1 13,000
9 [MS HIRE HF 43AtAD Ha} SUASEMEH SAY xS 1 13,000
9 |H7Z H| &4 289 X, 232 18 1 9,500
9 |HtHA HEA HEd X g, s4dF 28 1 9,500
9 |[2tetM H &4 24 Xg olgs 08 1 9,500
9 |&7t2| OtEo| H &4 it X8, 830 O8 1 9,500
9 |71 HEA REIE X ¥EF 18 1 10,000
9 |MddE H &4 a8 x| g, XM a8 1 10,000
9 |M3 B X2 Xt AtAE X5 X2, ol 18 1 15,000
9 |9AHS TAL AHA MO FLLR |oIRE 2ol X|g, of2 2228 o 18, 4 1 19,000
9 | Elo|=2| MAA Mol=a & OHEA X8, Met €A O, A 1 25,000
9 [N R HEL Zyl [=wror o x|g, oLt Fhx|Ojofata 1, 1 15,000
9 |[2EMZH Zdolel oiE g7 stETs A8= X5, #8318 1 13,500




